
                                  Exercise 11 Compulsory 

 

Problem 1 

 

 

Problem 2 

Let 1 2  1nX ,X , X , n   be independent and identically binomial (1, p) distributed, 0 1p  .  Let 
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a) Show that the distribution of Y is an exponential family and also that Y  is a sufficient 

statistics for p .  

 

b) Is Y also a minimal sufficient statistics for p ?  Explain also why Y is a complete 

statistics.  

 

c) Determine 1
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  and its expectation.  What do you know about the 

properties of the  estimator 1
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Problem 3 

 

 

c) Is the estimator efficient? We call an estimator effcient if it attains its lower bound.  

d) Find the MLE estimator of 2 . Is it efficient? 

 

 

 

Problem 4 

 

 
 

 

 

 

 


